A Simple Example
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A Simple Example (cont.)
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Problem 1.102

1.102. Find the equation of motion for the system illustrated in Figure P1.102.
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Figure P1.102
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Problem 1.102 (cont.)

\ '\_ 9
LT 05 it - ey -3

AL . A (@L

E)/; = MX @\% 4 \1‘/\%
C
%K Qé\ MG \@\\ Q\: i

k <\< +\<; CS\E ’p
X <\<\* B = N VD e T vty By Undon By S o \uz&keri'.‘.l

A Woat 1y M aghul {m@? Y sqvee”

| &

Duwds \oﬂ n )( ¥ QC\*\Q MW 1\/\

3 ’r‘(a
B Wy — \/\W\ - l‘/\



Position (Seismic) Harmonic Inputs with Damping (Sec. 2.8)
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k For the undamped case, the
repsonse of this system was
m identical to the direct-forced case.
C With damping, that is no longer true.
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Position (Seismic) Harmonic Inputs with Damping (cont.)
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Notice that above {12, higher damping
2F leads to a *higher* magnitude response.
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Phase converges to -90deg
(not -180 deg, like direct-force)
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